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OIAL 6 @l 1 @3qol

A § e
M Choose the correct answer froma, b,cord: _
BN Lastyear,he ... the cello.
(@) played (b) playing (©) play (d) to play
P2 The orchestra .......... music by Bach.
(@)ate (b) performed (c) took (d) moved
ER The...........is a wild animal.
(a) parrot (b) cat (©) tiger (d) eagle
I} Giantpandaseat ... ... v
(@) bamboo (b) spaghetti (©) fruit (d) mountains
El He's ... ready for the concert.
(@)got (b) gets (c) getting (d) get
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80

M Choose the correct answer froma, b, cord: .
BB -0 s -6

@> ® < ©= @2
The image of the point (3 ,—4) by translation (2 »5) is -

@1(5,9) 1) ©(5,1) @,9
B 4x|_5|= ..........................

(@-20 ® 10 ©18 d)20
Bl Z" N 7 = woinistom@losw

@a {0} ©ON @z
E)IfA(259),B(—459) sthen the length of AB = --vvooovvviiicninnns length units.

@3 )4 ©5 @6
I3 The additive inverse of (—8) is -

@-8 ® 8 ©9 @18
fx=4,y=2,z=-5,thenthevalueof : (B X+y)—z= il

@-5 ®9 ©1 d) 20
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40
A Choose the correct answer froma, b,cord: -
[ 1 [ is a rigid bar that rotates around a fixed point called fulcrum.
(a) Effort force (b) Solution
(©) Resistance force d) Lever

P2 Resistance force lies between the effort force and fulcruminthe ... .

(@)first class levers. (b) second class levers.

(©) third class levers. (@) (a) and (b) are correct.

ED All the following levers are examples of the first class levers except ... ..

(@) seesaw. (b) crowbar.

(©) bottle opener. (d) water pump.

3 The law of levers states that ...
(a) effort force x its arm = resistance force x its arm.
(b) effort force x its arm = resistance force + its arm.
(¢) effort force + its arm = resistance force + its arm.

(d) effort force + its arm = resistance force + its arm.
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oIl 6 wnll 2 @iqgoli

A § e
M Choose the correct answer froma, b,cord: _
EF Amal ... .. atreeyesterday.
(@) climbed (b) ate (©) flew (d) played
(2 I .. you want some help ?
@ Does (b) Do () Are (d) Have
EN The ... helps people who have emergencies.
(@ teacher (b) farmer (©) baker (d) officer
I3 Sheis ... on make-up.
(@ puts (b) put (©) putting (d) to put
) Giant pandas don’t ... in the winter.
(@)sleep (b) hibernate (©run d) live
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oIl 6 wnll 2 @iqgoli

M Choose the correct answer froma, b, cord:

1 | ———————
@-1 1 ©2 @7
B Bpsdd e Z
BE ©F ©C G)le
E) The image of the point (4 ,— 2) by translation two units in the positive direction of
thie y-axis i5 s
@4 ,2) b2,-2) (©4,0) d) (6 ,-2)

ﬂ If= 5w =—5 sthena = e

@0 b1 (©2 @10

) The set of integers greater than — 35 -«

@{-4,-5,-6,..} ®{0,1,2,3,..}
©{-2,-1,0,1,.-} @{7-8,9,10}
@ IfX(3,:8),Y(354) s then the length of XY = -occovrvninniies length units.
@4 b5 (©6 d12
7 [ S t—
@-7 -6 ©-3 @-5

Mllﬂl-llubcmm f)

QEELEESR Ll 8 wwww.exam-eg.com



oIl 6 wnll 2 @iqgoli

M Choose the correct answer froma, b,cord:

) The distance between the resistance force and fulcrum is knownasthe ... .
(a) effort force. (b effort arm.

(C) resistance arm. (d) fixed point.

3 All the following levers don't save effort except ...
(@) wheelbarrow. (b) tweezers.

(©) ice holder. (d) manual broom.

EJ Any lever rotates around a fixed point called the ... .

(a) effort arm. (b) resistance arm.,
(¢ effort force. @ fulcrum.
L —— is a third class lever.
(@) Hockey bat (b) Stapler
(©) Nail clippers (d) Scissors
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OILL 6 wWnll 3 ¢dgol

A § e

M Choose the correct answer froma, b, cord: _
BN She likes playing music. She playsthe ... every day.

(@) bath (b) pass (c) bus (d) bass
P2 ... flyinthe sky.

(a) Parrots (b) Lions (c)Bears (d) Camels
£} The operator told Ahmed tostay ...

(@) noisy (b)angry () nervous (d) calm
I3 Sheplaysthecello ... :

(@ quiet (b) quietly (©) quick (d) loud
EJ We ... atree when the parrot flew by.

(@) are climbing (b) climbs (c)were climbing  (d)climb
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80
M Choose the correct answer froma, b,cord: s
BN The set of integers between—2 and 2is -+ veeeveeieinnn
@{-3,-4,-5,..} ®{-1-0,1}
©1{2,3,4,5,..} @{-1--2,-3,..}
) T o —
@-12 ©)-6 ©-9 @9
; ol ; A B
EN Onthenumberline AB= oo, units. T EF R TEE TS &
@-2 ®5 ©7 @6
Z3 The integer which represents a temperature of 3 degrees below zero
15 srsesmmmmmrmssssars
@-3 ®0 ©3 @6
EJ The image of the point (2 s— 3) by translation (X =1 sy +4)is oo
@W0,7 OICEN) ©E=1,7) @1
E N - S —————
@-11 -1 ©1 @1
g W TG0 ] o T
@1z bz

E1{1 2 38 5.} Mﬂmjlumul(r)
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40
M Choose the correct answer froma, b,cord: s
BN classlevers have the fulcrum between the resistance force and the effort
force.
(@) First (b) Second
(© Third @ All
A All the following sentences describe the importance of levers except ...
(@) decreasing force. (b) avoid dangers.
(©) increasing speed. (d) increasing distance.
B .. is used to pick up tiny objects.
(@) Nutcracker (b) Tweezers
(c) Crowbar (d) Seesaw

3 In afirst class lever, if the effort force is 400 Newton, the effort arm is 10 cm.

and the resistance arm is 20 cm. So, the resistance force equals .............. Newton.
(@20 (b) 40
(©300 d) 200
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oIl 6 w@nil 4 @igod

A § e
M Choose the correct answer froma, b, cord: _
BN I canseetheviolininthe.. ... room.
(@) bottle (b) book (c) music (d)art
Pl Sheisa......... girl.
(@) sadly (b) good (© well (d) badly
EX There'sabox.......... you.
(@ into (b) behind (©on (d) about
3 My grandfatherisstill ... . :
(@ alive (o) live (© life (d) leave
I She was tired. She was takinga ... .
(@) homework (b) match (c) prize (d)nap
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80

M Choose the correct answer froma, b,cord: s
1 ———— il

@> ®- GE @=
A The distance between the origin point O and the point A (0 ,—5)

6 sovmensamssasnsnsmish |ength units.

@-5 ®5 ©10 @15
EB5-—(—7)= i

(@-2 b2 (©10 @12
Bl Z—HN =il iihess

@z* ®{-1--2,-3,..}

©z @{0,2,4,6,..}
ﬂ |_10|_5: ..........................

@-5 ®-2 ©2 @5
I3 The set of integers smaller than—2 s -..............

@{-1,0,1,2,..} ®{0,1,2,3,..}

(©{-3,-4,-5,-6,..} @z
In the opposite figure : Y,

The vertices of the image of A ABC by
translation (5 s=2) are «--w-cecoevvvrienns

@(1,2),2,-1)(3,1) ~F

| 4 -3-2-10
®(0’2)s(29—1)g(4,1) EX ST
©1:2)5(25=1):(4,1)

@251 5(=152)5(1,4) M;lm_llubcmmf)
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oIl 6 w@nil 4 @igod

M Choose the correct answer froma, b,cord:

[l Effort force and resistance force are measuredin .
(@) centimeter. (b) kilogram.

(©) kilometer. (d) Newton.

I The force arm is shorter than the resistance arm in all the following levers

except ...
() coal holder. (b) tweezers.
(©) soda water opener. d) ice holder.
B ... is an example of second class levers.
(@) Stapler (b) Hammer claw
(©) Sweet holder (d) Pincers
| 4 [ class levers have the effort force between the resistance force
and fulcrum.
(a) First (b) Second

(© Third @Al
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oIl 6 wnll 5 e3qoi

A § e

M Choose the correct answer froma, b,cord: _
B8 The ... isamusical instrument.

(@) tape (b) tree (c) tuba (d) table
P2 lwas ... groceries when the parrot flew by.

(@) buys (b) to buy (©) buying (d) buy
X The pupils are cleaning ... the music room.

@to (b)up (©) with (d) by
EdHe....... the drums.

(@) hits (b) sings (©runs (d) blows

3 You can call the police when thereisa/an ...
(@) pay (b) emergency (c) party (d) theatre
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oIl 6 wnll 5 e3qoi

M Choose the correct answer froma, b, cord:

BB 5x(—3+7)=5x(—3)+5 X ccormnnnnnnnas

@-4 (b)-3 ©5 @7
1531 N
BE ©F ©C G)le
EJ The image of the point (— 1 5 2) by translation of 3 units in the positive direction of
T DRI R s
®@-2) ®2>2) ©«1,5) @12

I3 The previous integer of the number—5is -oooovevnne.

@-6 (-4 ©4 @6
@-2 b2 ©7 d 14

@ IfM(=2,1),N(3,1) sthen the length of MN = oovvvovvevirnninnne. length units.
@0 )1 ©3 @5

If x=4 ,y=—3 ,then the negative number of the following is oo

@x+y ©x-y ©xy D2x+y

Mllﬂl-llubcmm f)

DENERETR Lisciadl W, EXAM-€4g. cOMm



oIl 6 wnll 5 e3qoi

3 Choose the correct answer froma, b, cord:

BN  isaleverthatis used to avoid dangers.
(@) Seesaw (b) Manual broom
() Tweezers (d) Coal holder
P31  classlevers always don't save effort.
(@) First (b) Second

(© Third @Al

| 3 [ is @ measuring unit of force arm and resistance arm.
(a) Centimeter (b) Kilogram
(©) Gram (d) Newton

23 If the effort force of a lever equals 20 Newton and the resistance force equals 40
Newton, so this lever ... .
(@) is a third class lever. (b) doesn't save effort.

(c) doesn't have a mechanical benefit. (d) always saves effort.

Mllﬂljlubunm cf)
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oI B wWnll

Mathematics
(b)

[Z© @3 s—4)1225), 3+2,-4+5)
i.e. the imageis (55 1)

[Bld4x|-5|=4x5=20

@
[5](@) Thelengthof AB=|B—A|=]|-4-2]
=|-6]
= 6 length units.
[6]®

[7](©(BX+y)=z=(3x4+2)-(-5)
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Mathematics

[®

E1@-3&Zsos{-3,-31Z Z

[Z](©@4,-2)—=(4,-2+2)
So stheimageis (4 »0)

“1®

HIG,

[6] (@) The length of XY =|Y=X|=|4-8]
=|-4]
=4 length units.

=(12+2)+5=6+5=11 | [7](©
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Mathematics

[O®
[2](©]-3[x(-3)=3x(-3)=-9

[3](©AB=|B—A|=]5-(-2)|=|7]=7 units.
4@
[5]@@,-3)

So sthe imageis (1 51)

K=199%4) 21 ,-5+4)

[6](@)—5-6==5+(-6)=—11
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Mathematics

[11@|-5]=5 Sos|-5|>-4

[2](®)0A=|A-0|=|-5-0]

=|—-5|=5length units.

[3]d@5=-(-7)=5+7=12

“®

©|—10|+5=10+5=2

[E1©

[F1©A4,4)02=2 (1,2

83,1222, 5@2,-1

7@ c(-1,3)82=2_¢ @,
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Mathematics

] d)5%x(-3+7)=5x(-3)+5x7

“Distribution property”

: ACLMORSSER

Uil

oI B wWnll

[21©

@(—1 32)—(—1+3,2)
Sostheimageis (2 »2)

4@
Blo)-14+(-7)=2

[6]@MN=|N-M|=]|3-(-2)]
=|5|= 5 length units.

(©) Xy =4 x (- 3)=—12 “negative number”
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